
Teaching Resources @ www.tutoringhour.com

Properties of Addition

S2

1) =+ +9 13 91 ++ 13

=

= +

3) =+ +55 57 35 ++ 57

=

= +

5) =+ +28 66 2 ++ 66

=

= +

13

57

66

Juan, a baker, sold 12 croissants in the morning, 25 croissants in the afternoon, and

8 croissants in the evening. How can he use the associative property to calculate the 

total number of croissants sold?

A garden has 63 roses in one section, 25 roses in another section, and 27 roses in a 

third section. How many roses are in the garden? Make use of the associative property

to !nd the total.

Write the missing numbers using the properties of addition.

7)

8)

4) =+ +17 22 3 ++ 22

=

= + 22

6) =+ +46 48 14

=

= +

++ 48

48

2) =+ +4 15 36 ++ 15

=

= + 15
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